
SAP ABAP table DB_LOP_L_HD_IT {Generated Table for View}

DB_LOP_L_HD_IT

CLIENT [CLNT (3)]

LIST_GUID [RAW (16)]

LOP_GROUP [CHAR (4)]

LOP_CAT [CHAR (4)]

LOP_TYPE [CHAR (2)]

OWNER [CHAR (2)]

OPT_EXECUTED [CHAR (1)]

LOP_ID [CHAR (30)]

DOC_TYPE [CHAR (2)]

DOC_NO [CHAR (20)]

DOC_ITEM_NO [NUMC (10)]

REF_GUID [RAW (16)]

SIDE [CHAR (1)]

CARDINALITY [CHAR (1)]

TXT_GROUP [CHAR (4)]

TXT_GROUP_IT [CHAR (4)]

DECL_STATUS [CHAR (2)]

MASTER_NO [CHAR (10)]

DECL_GROUP [CHAR (4)]

DECL_CAT [CHAR (4)]

DECL_RULE [CHAR (2)]

EVENT [CHAR (4)]

EVENT_DATE [DATS (8)]

ORIGIN [CHAR (1)]

EXPIRE_DATE [DATS (8)]

CAL_ID_RESULT [CHAR (2)]

FIX_DATE [DATS (8)]

DATE_TYPE [CHAR (1)]

NUM_OFFSET [DEC (3)]

DATE_RULE [CHAR (2)]

FIX_DAY [NUMC (2)]

LOG_EXEC_DATE [DATS (8)]

OWNER_EXEC [CHAR (2)]

LOP_COUNT [NUMC (6)]

MATNR [CHAR (18)]

PLANT [CHAR (4)]

INCO1 [CHAR (3)]

COUNTRY [CHAR (3)]

UNIT [UNIT (3)]

LOP_C_CAT

CLIENT [CLNT (3)]

LOP_CAT [CHAR (4)]

 DB_LOP_L_HD_IT-LOP_CAT = LOP_C_CAT-LOP_CAT 

0..N

1

LOP_C_DECL_GRP

CLIENT [CLNT (3)]

DECL_GROUP [CHAR (4)]

 DB_LOP_L_HD_IT-DECL_GROUP = LOP_C_DECL_GRP-DECL_GROUP 

0..N

1

LOP_C_GRP

CLIENT [CLNT (3)]

LOP_GROUP [CHAR (4)]

 DB_LOP_L_HD_IT-LOP_GROUP = LOP_C_GRP-LOP_GROUP 
0..N

1

LOP_C_TXTGRP

CLIENT [CLNT (3)]

TDOBJECT [CHAR (10)]

TXT_GROUP [CHAR (4)]

 DB_LOP_L_HD_IT-TXT_GROUP = LOP_C_TXTGRP-TXT_GROUP 
0..N

1
 DB_LOP_L_HD_IT-TXT_GROUP_IT = LOP_C_TXTGRP-TXT_GROUP 0..N

1

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 DB_LOP_L_HD_IT-MATNR = MARA-MATNR 
0..N

1

PPE_C_EVENTS

CLIENT [CLNT (3)]

EVENT [CHAR (4)]

 DB_LOP_L_HD_IT-EVENT = PPE_C_EVENTS-EVENT 

0..N

1

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 DB_LOP_L_HD_IT-PLANT = T001W-WERKS 

0..N

1

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 DB_LOP_L_HD_IT-COUNTRY = T005-LAND1 

0..N

1

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 DB_LOP_L_HD_IT-UNIT = T006-MSEHI 

0..N

1

TFACD

IDENT [CHAR (2)]

 DB_LOP_L_HD_IT-CAL_ID_RESULT = TFACD-IDENT 

0..N

0..N

TINC

MANDT [CLNT (3)]

INCO1 [CHAR (3)]

 DB_LOP_L_HD_IT-INCO1 = TINC-INCO1 

0..N

1


